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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� VWUDWHJL� DSD� \DQJ� GLJXQDNDQ� 37�
,JDVDU� �6HPHQ� 3DGDQJ� *UXS�� GDQ� NHQGDOD�NHQGDOD� DSD� VDMD� \DQJ� GLDODPL� VDDW�
SHODNVDQDDQ� VWUDWHJL� SURPRVL� 3HQHOLWLDQ� LQL� PHQJJXQDNDQ� PHWRGH� DQDOLVLV�
SHQJXPSXODQ� GDWD� EHUXSD�� REVHUYDVL�� ZDZDQFDUD�� GDQ� PHWRGH� GHVNULSWLI��
:DZDQFDUD�\DQJ�GLODNXNDQ�NHSDGD�VXSHUYLVRU�EDJLDQ�SHPDVDUDQ�VHPHQ�]DN�

+DVLO�GDUL�SHQHOLWLDQ�LQL�PHQ\DWDNDQ�EDKZD�VWUDWHJL�SURPRVL�\DQJ�GLWHUDSNDQ�GL�
37� ,JDVDU� DGDODK� GHQJDQ� VWUDWHJL� SHULNODQDQ� PHODOXL� PHGLD� FHWDN� EURVXU� GDQ�
SHULNODQDQ�PHODOXL� NDOHQGHU�� SURPRVL� SHQMXDODQ� GHQJDQ� FDUD�PHPEHUL� SRWRQJDQ�
KDUJD� GDQ� SHPEHULDQ� MDPLQDQ��:RUG� RI�0RXWK GHQJDQ� FDUD�PHPEHUL� SHOD\DQDQ�
\DQJ� EDLN� NHSDGD� NRQVXPHQ�� VHKLQJJD�PHPEHUL� GDPSDN� SRVLWLI� SDGD�37� ,JDVDU�
�6HPHQ� 3DGDQJ� *UXS�� GDQ� SXEOLVLWDV� \DQJ� WHODK� GLODNXNDQ� 37� ,JDVDU� �6HPHQ�
3DGDQJ�*UXS��DGDODK�PHQJDGDNDQ�VHPLQDU�GDQ�SURJUDP�VSRQVRUVKLS SDGD�NHJLDWDQ�
NDUQDYDO�
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